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Instructions: s 1) Answer any two Questions frorn Per't-A
2) Answer any two Questions from Part-B :
3) Answer any one Questions. from Part G
4) Assume suitable addmonal data 1f necessary
Part—A 8
1. a. Derive the EMF equation for aLap wound DC machme o 8 e SR '> (6)
b. Explain the basic concept of aDrwe (6)

c. A 80K W, 8 pole, 3. phase mductlon motor dehve ull. load output ‘at 870 rpm and (8)
0.9PF when connected to 400V, 60Hz supply The mechamcal losses are 2K W and the

stator losses are 3K W. Determme at ful[,lo (i) rotor copper loss, (ii) Efficiency and (iii)
line current - . et

1thneat sketches brxeﬂy descrlbe' the.constructlonal features of the following basic type (9)
f Synchros”\(y) Control fransmltter (ii) Control receiver, (iii) Control differential

struction - and operatlon of a DC Servomotor. Draw its Torque-speed (7)

: characterlstlcs

Part-B

at sketch, explain the construction and working of Permanent magnet (10)
ngcoil instrument.

ibe the onstruction and working of and Induction type energy meter. (10)
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Describe the Two wattmeter method for three phase power measurement.

. Show the implementation of a half adder using logic gates. Write the truth table.

Explain the construction and working of an Electrodyn_amometer type wattmeter. -

Convert the given expressions into Sum-of-product form

HEx+2)x+y)(y+2)
(i) A+B+C)(A+B+0)

. Plot the Boolean expression f = ABC + /TBC +ABC :O‘h.fﬁe K;ﬁfab. P

Draw the Schematic symbol and truth table for the followmg loglc gates &

() NOT (ii)) OR (iii) NAND (lv) XNOR o

Parb(} (S

Describe the principle of operat1on of a DC»moto'r 7

. Draw and explam the "orque

Speed of a phase“Inductl ' m tor
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The armature current- of a: DC series. motor is 60A~ when on fu[l load. If the load is (6)
adjusted so thaf this current decreases 10" 404, ﬁnd ‘the” new' torque expressed as a

percentage of’ full load-torqu
current is __60

Explain the regenerative brak
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-of DC shunt motot. Why it is not possible in DC series

he flux for a !current of 40A is 70% of that when the

(6)

(7

Q)



